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(m) (m) (kN/m) EE B (m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
; 100kN/mM#Z#B% % - -~ -|[3mZEEBR S -~ - - -| 100kN/MZ#BZ % - -~ -|3mEBZD -~ - -
znLs 1.00 | 0.00 ~ 4.55 56.78 | #nLs | 000 ~ 4565 1.90 10.16 Fhn s 1.00 | 5.00 ~ 5.00 56.78 | =N | 5,00 ~ 5.00) 1.90 10.16
P 100kN/mM%Z#B% % ~ -[3mZEEBR S -~ -| 100kN/MZ#BZ % - -~ -|3mEBZD -~
Zh s 1.00 | 0.00 ~ 572 71.53 | RS | 000 ~ 572|178 9.563 zhn s 1.00 | 5.00 ~ 6.40 71.53 | EnRS | 500 ~ 640|178 9563
3 100kN/m#Z#BZ2%| 1.00 | 000 ~ 030 104.35 |3mEBZ5 -~ -| 100kN/MZEBZB | 1.00 | 1071 ~ 1150 104.35 |3mEiBZ5 -~
Zh s 1.00] 030 ~ 808| 100.00| FThLls | 000 ~ 808|229 12.23 Zh st 1.00 1500 ~ 1071 100.00 | =nLS | 5.00 ~ 11.50| 2.29 12.23
4 100kN/mM%Z#BZ % ~ -|3mE#BZD -~ -| 100kN/M#Z# 8% % - -~ -|3mE#ZD -~
Zhn s 1.00 | 0.00 ~ 7.63 97.78 | #ns | 0oo ~ 763|250 12.33 zh s 1.00 | 5.00 ~ 1040 97.78 | #nLSY | 5,00 ~ 1040 2.530 12.33
5 100kN/mM%Z#BZ % ~ -|3mEBZD -~ -| 100kN/M%# 8% % - -~ -|3mE#ZD -~
Zh s 100|000 ~ 188 2648 | Fhs | 000 ~ 188|262 14.03 LS 1.00 | 5.00 ~ 5.00 26.48 | =S | 5.00 ~ 5.00 )| 2.62 14.03
100kN/mM%Z#BZ % ~ 3m%EBAS ~ 100kN/mM%Z#B% % ~ 3mEBZD ~
Zh s ~ Zzhst ~ Zzhn st ~ s ~
100kN/m%Z#BZ % ~ 3m%EBAS ~ 100kN/mM%Z#BZ % ~ 3mEBZD ~
zh s ~ zhnst ~ zhLs ~ zhLsn ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBEZD ~
zh s ~ zhs ~ zhLs ~ zhLsn ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
zh s ~ zhst ~ zhLs ~ zh s ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBEZD ~
zh s ~ zhs ~ zhLs ~ zhLsn ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEEZD ~
zh s ~ zhst ~ zhLs ~ zhLsn ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zn LS ~ ZThLLS ~ LS ~ Zhn Lot ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zn LS ~ ZThLLS ~ LS ~ Zhn Lot ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zn LS ~ ZThLLsh ~ LS ~ Zhn Lot ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh s ~ Zh Lo ~ Zh LS ~ Zh s ~
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